



姓名: _____

日期: _____ 分數: _____

$$\left(\frac{2}{3} - \left(\frac{1}{3}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{5} - \frac{3}{5}\right)^2 =$$

$$\left(4 - \frac{1}{2}\right)^2 - \frac{1}{2} - \frac{3}{4} - 3^2 =$$

$$\left(2 - \frac{1}{2}\right)^2 + \frac{3}{2} + 4^2 + \frac{1}{2} =$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{2}{3}\right) \times \frac{1}{5} + \left(\frac{1}{2} - \frac{1}{2}\right)^2 =$$

$$\left(5 + \frac{1}{2}\right)^2 - \frac{1}{3} - 2^2 - \frac{3}{2} =$$

$$\left(\left(\frac{2}{5}\right)^2 - \frac{1}{2}\right) \times \frac{3}{4} + \left(\frac{3}{2} + \frac{1}{6}\right)^2 =$$

$$\left(2 + \frac{1}{2}\right)^2 - \frac{1}{3} \times \frac{2}{3} - 4^2 =$$

$$\left(\frac{1}{6} + \left(\frac{3}{4}\right)^2\right) \times \frac{1}{3} + \left(\frac{2}{3} - \frac{1}{2}\right)^2 =$$

$$\left(5 - \frac{1}{3}\right)^2 + \frac{1}{2} + 5^2 + \frac{3}{4} =$$

$$\left(\frac{1}{3} - \frac{2}{5}\right)^2 + \frac{1}{2} \left(\frac{2}{3} + \frac{2}{3}\right) =$$



姓名: _____

日期: _____ 分數: _____

$$\left(\frac{2}{3} - \left(\frac{1}{3}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{5} - \frac{3}{5}\right)^2 = \frac{53}{450}$$

$$\left(4 - \frac{1}{2}\right)^2 - \frac{1}{2} - \frac{3}{4} - 3^2 = 2$$

$$\left(2 - \frac{1}{2}\right)^2 + \frac{3}{2} + 4^2 + \frac{1}{2} = \frac{81}{4} = 20\frac{1}{4}$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{2}{3}\right) \times \frac{1}{5} + \left(\frac{1}{2} - \frac{1}{2}\right)^2 = \left(-\frac{1}{12}\right)$$

$$\left(5 + \frac{1}{2}\right)^2 - \frac{1}{3} - 2^2 - \frac{3}{2} = \frac{293}{12} = 24\frac{5}{12}$$

$$\left(\left(\frac{2}{5}\right)^2 - \frac{1}{2}\right) \times \frac{3}{4} + \left(\frac{3}{2} + \frac{1}{6}\right)^2 = \frac{4541}{1800} = 2\frac{941}{1800}$$

$$\left(2 + \frac{1}{2}\right)^2 - \frac{1}{3} \times \frac{2}{3} - 4^2 = \left(-\frac{359}{36}\right) = \left(-9\frac{35}{36}\right)$$

$$\left(\frac{1}{6} + \left(\frac{3}{4}\right)^2\right) \times \frac{1}{3} + \left(\frac{2}{3} - \frac{1}{2}\right)^2 = \frac{13}{48}$$

$$\left(5 - \frac{1}{3}\right)^2 + \frac{1}{2} + 5^2 + \frac{3}{4} = \frac{1729}{36} = 48\frac{1}{36}$$

$$\left(\frac{1}{3} - \frac{2}{5}\right)^2 + \frac{1}{2}\left(\frac{2}{3} + \frac{2}{3}\right) = \frac{151}{225}$$